5.102

5.102 [For the 180° elbow and nozzle flow shown in Fig. P5.108
determine the loss in available energy from section (1) to section
(2). How much additional available energy is lost from section
2w where the water comes to rest?
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FIGURE P5.108

for solving the hrst part of this problem, the control volme
shown 1n The Ssketch above is used. To determine the Joos
accmﬂany/}yj Flow from sechm 7 to Sechmm 2 £g. 5. 79 can be wsed
as Follows .
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Frove  The  congervation oF mmass prineple we  conclude that
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For the second part of this problem we consider the How of a

Auid  porfcle from  sechon 2 1o a slak of ret,a.£g. 579 leads 4o
= VY
L7255, v
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Mote that we have assumed That ’95’0'“’/’274., ama/ Z =2 .
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Thus
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